
RAM CYCLE PIVOT BASE ASSEMBLY INSTRUCTIONS

OPTION 1 - MIRROR RELOCATION
PLACE (N) TOOTH LOCK WASHER OVER THREAD, 
FOLLOWED BY (C) STAND-OFF, AND ANOTHER (N) 
WASHER. EXPOSE FEMALE THREADED HOLE ON 
MOTORCYCLE AND USE (G or H) SCREW, DEPENDING ON 
THREAD PITCH. MIRROR WILL ATTACH TO THE (C) 
MIRROR STAND-OFF BRACKET USING (J or K) NUT, 
DEPENDING ON THREAD PITCH OF MIRROR. PLACE ONE 
(N) TOOTH LOCK WASHER BETWEEN MIRROR AND (C) 
STAND-OFF BRACKET AND TIGHTEN.

TOOLS REQUIRED
4MM HEX DRIVE WRENCH
6MM HEX DRIVE WRENCH
8MM HEX DRIVE WRENCH

A

B
C

D
E F

G
H

I
J

K
L

M

A C D

E

F

G
H

A

C or D

C or D

B

E

E

B

G

H

F
A

PARTS INDEX
A. RAM TOP CLEVIS WITH BALL (QTY. 1)
B. RAM CLEVIS BASE WITH HOLE FOR BOLT (QTY. 1)
C. MIRROR STAND-OFF BRACKET (QTY. 1)
D. O-RING (QTY. 2)
E. #10-24 X 1” SOCKET HEAD SCREW (QTY. 1)
F. #10-24 NYLOCK NUT (QTY. 1)
G. M10 X 1.25 X 40MM SOCKET HEAD CAP SCREW (QTY. 1)
H. M8 X1.25 X 40MM SOCKET HEAD CAP SCREW (QTY. 1)
J. M10 X 1.25 THIN HEX NUT (QTY. 2)
K. M8 X 1.25 THIN HEX NUT (QTY. 2)
L. M10 X 1.25 X 20MM SOCKET HEAD CAP SCREW (QTY. 1)
M. M8 X 1.25 X 20MM SOCKET HEAD CAP SCREW (QTY. 1)
N. M10 TOOTH LOCK WASHER (QTY. 3)

B

J

K

L M

N

STEP 1:
LOCATE THREADED FEMALE HOLE ON YOUR MOTORCYCLE AND VERIFY THE APPROPRIATE THREAD 
PITCH BY CAREFULLY THREADING ONE OF (G, H, L or M) SCREWS PROVIDED. THE LENGTH OF THE 
CORRECT SCREW WILL DEPEND ON WHICH OF THE TWO OPTIONS YOU SELECT (SEE BELOW). PLACE 
CORRECT SCREW THROUGH CENTER OPENING OF (B) CLEVIS BASE.

OPTION 2 - NO MIRROR RELOCATION
PLACE (N) TOOTH LOCK WASHER OVER THREAD. USE (L or M) 
SCREW TO ATTACH ASSEMBLY TO MOTORCYCLE. (C) STAND-
OFF WILL NOT BE USED.

STEP 2:
WITH (N) TOOTH LOCK WASHERS IN PLACE (SEE STEP 1), PLACE 
ASSEMBLY OVER THREADED HOLE ON MOTORCYCLE AND FULLY TIGHTEN.

STEP 3
POSITION (D) O-RINGS OVER RECESSED 
GROOVES ON EACH SIDE OF (A) TOP CLEVIS. O-
RINGS MUST BE SEATED PROPERLY FOR EASY 
ADJUSTMENT. INSERT (A) TOP CLEVIS WITH (D) O-
RINGS INTO (B) CLEVIS BASE AND FASTEN USING 
(E) SCREW AND (F) NUT. ADJUST TO DESIRED 
ANGLE AND FULLY TIGHTEN.

**IMPORTANT SAFETY NOTICE**
IT IS NOT SUGGESTED NOR RECOMMENDED TO REMOVE ANY STAINLESS STEEL 
SCREW AND REPLACE WITH PIVOT BASE MOUNT. AN EXAMPLE OF THIS WOULD BE 
THE HANDLEBAR YOKE CLAMP BRACKET OR OTHER VITAL ATTACHMENT WHICH 
HOLE ESSENTIAL STRUCTURAL COMPONENTS TOGETHER.

National Products, Inc., 8410 Dallas Ave S., Seattle, Washington 98108  (206) 763-8361  www.ram-mount.com

RMR-INS-B-360

N

L or M
OPTION 2

OPTION 1

N

C

N

N

G or H

J or K

D

A

D

E

F

B

B

B


	Page 1

